IE1204 Digital Design Answer Form 2022-2023

Full Name Personal Number Program
Exam 2022-10-28 YYYYMMDD-XXXX NN
Answer with Answer Points
1 [Decimal number 34 1
2 |8 bit two's complement binary number of1)1f1]1|1]0
3 |8 bit two's complement binary number 1]10f(1]1|1f21]0]1
4 |Circuit number(s) #1 1
5 |Boolean expression, Y = -~ T~
B-C-D+C-D+A-B 1

6 |Boolean expression, Y =

B-D+A-B-C-D+A-B-C-D| 1

7 [Mux tions, Bool ion or Gat -
connections oolean eXpreSRSCI)\O,\:]COg :0; A @ B
Row CD = 01 A-B .
Row CD = 10 A-B
Row CD = 11 A

8 |Timing diagram

|Oms |5ms |10ms |15 ms |20ms |25 ms |30ms |35 ms |40ms |45 ms

CLK | | I I_I_I—I_l—l— 1
a [ I |

9 |Timing diagram

|0ms IS ms |10ms |15 ms IZOms |25ms |30ms |35ms |40ms |45 ms

x| L L 1 1

a [ I I L
10 |Propagation delay t,4 < 130 ps 1
Contamination delay t.4 > 35 ps 1
11 Next state Q3Q2Q1Q0 = 0101
1
12 |Boolean expression or Gate, Y = .
Q,-Q
13 |16 bit two's complement hexadecimal P
1
Product Ax B 12DA
14 |8 bit two's complement hexadecimal Q 3 R 1 1
Quotient (A / B) and Remainder
15 |8 result bits (S; Sg S5 S4 S3°S, S1 So) 1(ol1]0|1]1]1
16 [Shift register contents, 8 bits 1]1f({1]0]0f1]1
TOTALPOINTS Examiner sign 16




